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09132100 phught, wptidhnu c<L thuip 500.0 12660000.0 | 25,320.0
181441000 w2fuwwnwupwihl dknungutip (o] hwn 180.0 5400.0 30.0
18318200 fuwjwpubn < hwn 9050 54300.0 6.0
22211000 rlipptin PLUL Twd 435000 435000.0 1.0
22816100 unpwnbinp (o] 4 hwtn 200.0 8000.0 40.0
2817000 | °nuantmbulommtandenh - pe f 0| 500 | 435000 | 30.0
intinpbp

30125100 wnnubipwjhu pwpwpheutip ¢« hwn 68750.0 275000.0 4.0
30125100 tnnubipwjhu pwpuiphgubip c< hwuwn 40000.0 400000.0 10.0
30125100 wnnubipwht pwpwphgutip < hwwn 44000.0 924000.0 21.0
30125100 wnnubipwjht pwpwnphgutip < hwuwn 44500.0 534000.0 12.0
30125100 nnubipwjht pwpwpheutip < hwwn 70000.0 140000.0 2.0
30125100 nnubipwht pwpuiphoutip c< hwwn 27000.0 54000.0 2.0
30125100 nnubipwihu pwpwnphottip < hwn 40000.0 1600000.0 40.0
30141200 ubnwuh hwoyhsubip cL hwwn 3000.0 60000.0 20.0
30192113 pPwlUwpwihu pwpephoubin < hwuwn 15500.0 77500.0 5.0
30192113 RPWUWpPWIhU pwprephoutip cL hwwn 14500.0 72500.0 5.0
30192113 RWUWpWIhU pwnprphoutin (o] < hwuwn 41000.0 82000.0 2.0




30192114 pwlwp, 2inwdwh, pwpdhlh < hwn 250.0 1250.0 5.0
30192121 qunhywdnp aphs (o] & hwwun 120.0 4800.0 40.0
30192128 gbjwihu gphs < hwwn 150.0 30000.0 200.0
30192137 dwwnhw, gpwdhwnt dhontyny 2 c< hwwn 100.0 5000.0 50.0
30192160 annhpulbn <k hwwn 350.0 17500.0 50.0
wnihdbpwihu hupuwlwsniu 2500.0 10.0
30192210° | b AB GO0 ot 05|  ° L = >00. '
wnpdbpwjhtu huptwlwsniu
30192220 dwwywybl, 48001004 intnbuwlw, ol hwuwn 30.0 1500.0 50.0
thonn
30192710 |“"uPue: ereh, unduinwnpeh L t< | hun 3500 | 28000.0 | 80.0
nnpuwnhih
30192720 dwhphs (Jwpltn ) o< hwn 250.0 12500.0 50.0
30192730 [t lwdRlwghuh punube: hun, A% 1 p 150.0 | 75000.0 | 500.0
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30197231 prpuiulialy, wihdtpuyhl t< | hun 10.0 10000.0 | 1,000.0
puwnwlR, duj|
30197232 pnRWWWUWY, wpwqwlwn, phRjw ¢tk hwuwn 100.0 40000.0 400.0
30197234 pnRWwWwuwy, Ynou fuqiny c< hwuwn 1000 620000.0 620.0
30197322 Yuphsutip, 20-30 phpph hwdwn c< hwuwn 1050 21000.0 20.0
30197325 wwuwnhl quuywuwy, Ywphs cL hwuwn 50 50000.0 1,000.0
30197330 nwyhsutip cL hwwn 5000 50000.0 10.0
30197340 wuywlwphsubin o< hwn 250.0 2500.0 10.0
30197620 gpbnt pnine < Ug 1100 22000.0 20.0
500h
30197631 BRI, A4 Snndiinh 1/21%29.7/ o< '"”mﬂn 2500 | 1000000.0 | 400.0
30197637 penne Yuqdh < hwuwn 60 30000.0 500.0
30199210 pwghyutip [ hwwn 750.0 450000.0 600.0
30199231 uwdwlyh dpwp <k hwun 20.0 27000.0 1,350.0
30199232 Spwip,dtid, A4 $npdwnh hwdwp c< hwwn 60.0 120000.0 2,000.0
30199420 poinp tonuibph huwdwp e mm:}: :aoo;a 300.0 30000.0 | 100.0
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30199430 pnunp Unuitlinh, nipgwljulipny o< “'"“g‘{f . Pl 2500 12500.0 50.0
30199600 | gpbuwlwl whwnnypubiph pwdwuhsubip < hwuwn 2900 29000.0 10.0




30234620 $itip hhonnnueniuttin, 4GB c<L hwwn 2300 23000.0 10.0
30234630 $1b2 hhannnigyniuutin, 8GB L hwwn 3600 54000.0 15.0
30237250 hwdw”t‘fﬁgﬁiﬁ;ﬁ””d“‘“ z< | humn 1400 15400.0 | 11.0
30237412 hwdwlwpgswiht JYuhly, wugwp L hwn 8000 560000.0 70.0
30237470 |uwbnuwowp, unwunwnw, 104 Yynbwynd [ TL hwtn 3000 210000.0 70.0
31212000 wywnndwwn wugwwnhsubp t<k hwwn 1000 10000.0 10.0
31524100 wnwunwnh (nwynpdwb uwppbp L (nwlwqu 16750 167500.0 10.0
31531230 ElEyunpwlwu jwdw, 200W t< hwwn 240.0 12000.0 50.0
31531300 wnuwnbunn (wdwbp (e] & hwn 2200 220000.0 100.0
31531500 gbiptlwht (wdw 60ud L hwin 400.0 160000.0 400.0
31532400 jwdwbph Ynpwnubp (o] hwin 240.0 2400.0 10.0
31684100 Jupnwy Gpyplbinwup (o] & hwwn 500.0 5000.0 10.0
31685000 Elywnpwlwt Gplwpwgdwt wp t& hwun 1600 32000.0 20.0
31686000 tupng t<k hwun 100.0 1900.0 19.0
32412110 hwdwgwug PCUL THwd 873500 873500.0 1.0
32412110 hwdwgwlg t< Ypwd 76500 76500.0 1.0
32422000 gquiugwjht pwnwnphsubip (o7& hwwn 9150 45750.0 5.0
33761000 nnynuny, gnigwpwuh pnunpe < hwwn 100 100000.0 1,000.0
33763000 dtinph renreti upphsutin c<L wnntth 1330 1274140.0 958.0
34351100 wyndbipiuwubiph wuhyutip PCLUL hwn 45000 180000.0 4.0
34351100 wyndbpbuwubph wuhyutp PLUL hwn 45000 180000.0 4.0
34351100 wyndbpbuwubiph wuhyutp PCUL hwwn 45000 180000.0 4.0
34351100 wyndbipbuwubiph wuhyutp PLUL hwtn 40000 80000.0 2.0
35111300 Ynpwldwnhsutip t< hwun 20000 100000.0 5.0
39132100 |thwuwwpenptph ywhdwu ywhwpwuubp| &< hwn 24000 24000.0 1.0
39136000 Yuifuhsutip c<L hwwn 10000 20000.0 2.0
39138110 wpenn gpuublywlwihu ol hwn 8000 240000.0 30.0
39221120 pwdwlutip c< winth 1800 9000.0 5.0
39224310 gniqupwuh funquuwlutip c< hwuwn 840 16800.0 20.0
39224342 wnpwnplntip, denwnjw (o4 hwwn 1500 37500.0 25.0
39241140 nwlwl gpwubljwlywihu dhnwnjw < hwn 100.0 1800.0 18.0
39241210 dypwn, gpwublywlwihu c< hwun 230.0 2300.0 10.0
39263100 gnwublywluwiht (pulwqd tL hwwn 4000 60000.0 15.0
39263200 qu(ﬁ?ﬁ:ﬂﬁuqtﬁhﬂi?;;tbjp:j s 73:;':@ 800.0 16000.0 20.0
39263310 opwgnyg, utinwuh t< hwn 900.0 27000.0 30.0
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39263410 wdpwy, denwnyw, thnpp c< T 180.0
39263510 ubindwly, thnpp (o7 hwwn 25.0 6000.0 240.0
39263520 ubindwy, dhohu c< hwwn 60.0 14400.0 240.0
39263530 ubindwy, Jté c<L hwun 80.0 9600.0 120.0
39263600 gnswwnnih, wpynhlutip ot hwun 700.0 7000.0 10.0
39292500 pwunulbip c<L hwin 350.0 14000.0 40.0
39513200 ubinwuh wudbnnghyubip cL wnintth 160.0 4960.0 31.0
39515450 hnphuntwlwu 2bpnwywpwgnyn & pd 7500 1650000.0 220.0
39525100 thnant hwdwpdwl Yunpbutp t< hwuwn 180.0 18000.0 100.0
39525800 dwppnn Yuinpubip t< hwuwn 630.0 12600.0 20.0
39811300 hnunwgbdnn dhongubip L hwun 370.0 74000.0 200.0
39812410 Ywhnyph thwjigdwl dhong L hwuwn 730.0 21900.0 30.0
39831240 dwppnn Yynipbin < hwwn 1650 33000.0 20.0
39831241 own < | hwwn/100g 240.0 240000.0 1,000.0
39831242 | ywgph thnoh &bnpny [Ywlwint hwdwn c< Uag 760.0 7600.0 10.0
39831271 uwntug uwuhwnwpwhhghtiuhy (o] hwun 80.0 4800.0 60.0
39831300 hwwwyh Jwppdwl ujnipbp L (hwp 1680 33600.0 20.0
39831600 qniqupwlubph dwppdwl Ujnietip c& (hwn 1300 65000.0 50.0
39832000 uwwuph (Yugdwl wpnwnpwup c< Ua 700.0 8400.0 12.0
39835000 hwwnwl dwppbint &nn t< hwwn 1000 6000.0 6.0
39836000 wyby t< hwwn 900.0 18000.0 20.0
44322100 | dwnifu hwdwlwpgsh UTP cable 6 level L dbwp 60.0 12000.0 200.0
4441110 oph dnpwy, thwlwl t< hwuwn 1500 12000.0 8.0
44521110 nnwt thwlwuutp L hwn 10600 106000.0 10.0
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64111000 i i S S PCUL Tpwd 100000 100000.0 0
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64111000 gl gty i Ao PLUL “Hpwd 400000 400000.0
thnuinwhu dwnwynipniutbn’ juwywsd
64112000 T . PLUL Tpwd 600000 600000.0 1.0
64211100 bl hbnwfunuwl PCUC | Hpwd | 1615200 | 1615200.0 1.0
Swnuwjniypntuln
64211200 ngpuunuipwinb hinuwlunuwint POUC | Tpwd | 3828000 | 3828000.0 1.0
dwnwynipniuubin
64228200 | Munhhwnnprinudutnh hnawpdwldwl | 0o b qng | 43200 | 432000 1.0
Swnwyniejniuubp
65111000 fudtiint oph pwofunid PLUL “pwd 144000 144000.0 1.0
65210000 quqh pwzfuntd PLUL “pwd 2700000 | 2700000.0 1.0
65310000 ElEyunpwywunipjwu pwotund PLUL THpwd 8000000 | 8000000.0 1.0
66514100 | rnfuwnnwdhengUinh htwn huwdwd pe b g0 s | 500000 | 5000000 | 1.0
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30213000 wudtwlwu hwdwlwpghsubp Ch hwuwn 396000 6732000.0 17.0
30213000 wldbwlwl hwdwlwpghsubp (o] & hwun 142000 7100000.0 50.0




30213100 nynipwlhp hwdwlwpghsubip c< hwwn 590000 3540000.0 6.0
30232131 gniuwynp nwhs, (wabinwiht 1, hhonn L hwuwn 138000 690000.0 5.0
s nﬁwﬂ?iﬂﬁﬁ? .}:.f:ﬂrm. c< hwwn 100000 i 15.0
31154000 wlpuwthwl uunigdwl wnpniputip < hwun 63000 2205000.0 35.0
32333200 rUw|hU wbuwdwjuwagnphsubin L hwn 146000 146000.0 1.0
inbuwwhwuwl, htnniy pinipbnwihu
32442100 d Eco = 4 PG = - w6000 | 9200000 |
34111200 ubinwu pwihpny Jtipbuw B hwn 15000000 | 15000000.0 1.0
39113200 thnpp pwqungubip BE hwn 115000 230000.0 2.0
39113200 thnpp pwqdnglbin i hww 200000 200000.0 1.0
ubinwu,gpwubnul, woluwwnwlpwihu,
Lol = qr;u]ut—,qir: - BE hwn 75000 FEBEER 2.0
39122200 gnwwwhwpwllbp c< hwn 109000 109000.0 1.0
39122200 gpuwwhwpwuttp o< hwtn 98000 98000.0 1.0
39122200 gpwwwhwpwubn < hwn 178000 178000.0 1.0
39122200 gnwwwhwpwuutip e hwn 154000 154000.0 1.0
39122200 gpuwwhwpwutbip c< hwtn 210000 210000.0 1.0
39122200 gnwwwhwpwubip o4 hwin 48000 48000.0 1.0
39122200 gnwuwhwpwulbip 04 hwn 239000 | 239000.0 1.0
39122200 gnuwwwhwpwbp G4 hwwn 185000 185000.0 1.0
39134000 hwdwlwpghgutiph Ywhnyp o< hwn 240000 | 240000.0 1.0
39138310 pwqlwpnn Jwpdwluwl B hwn 38000 608000.0 16.0
39138330 pwqyuwpnn niwwph c< huwtn 58000 580000.0 10.0
39141300 nupwyutipny wwhwpwuutp &L hwn 38000 38000.0 1.0
39141300 nwpwlutipny wwhwpwuubp 6L hwn 29000 29000.0 1.0
39141300 nwnwyubipny wwhwpwbp o7 o hwun 25000 25000.0 1.0
39141300 nwpwlutipny wwhwpuwuubp 7 hwwn 783000 783000.0 1.0
39143121 qqbunwwwhwpwultn 5% hwtn 59000 59000.0 1.0
39143121 qqiunwwwhwpwuutp i hwwn 95000 95000.0 1.0
39143121 qgbunwwwhwpwuutip t< hwwn 65000 65000.0 1.0
39143121 qgbunwwwhwpwllbp < hwwn 69000 69000.0 1.0
nigunpdwu hwdwp twhwwnbudws
32284000 ’ guim;qumudb;1us;ngmi{ c< hww 2280000 2280000.0 1.0
39714210 onnpwlhs 1, 9000 BTU TE hwuwn 119000 357000.0 3.0
39714250 onnpwhs 5, 30000 BTU L hwn 430000 860000.0 2.0
48611000 | "Wwiltinh pwquih hwidwlungswhu
opwgnuwiht thwpetipubin c< hwn 1317200 1317200.0 1.0
48443000 hwaywwwhwlwl hwdwlwpgswih
dpwgpuwjht thwpbiputn PLUL hwtn 82800 82800.0 1.0
48823000 $uyjwht ubipytiputip &7 hwwn 2686000 | 2686000.0 1.0
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